EARAROBREBRT —5 XN—ZXBISH—F

20224F383H (A 26EREE4H

Bl csaExrvoMITO! C3 YS5H EE IR
[AXE%€]) 1%:320,00H ~ 2%&:102,000H  337%:58,00MH  4%&:38,00MH  53&:26,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
<, sy [EI BB : -3-4- - HF HE— (BEE)
1l5l5| 300/ TVY I it 4 et 1.(3_2).9 3-3-4-1 | 40.1 2 (4_323) it
RiFVh—0 #B:tA5 e Te
— REFIER : -1-1- - SR (BEE)
; 4| 91=—%42 B 7 A 1.(353.0 1-1-1-2 | 41.6 4 (4_438) i
RIZAZXAIVR B:FLYyvRFvy b AN—=LT7—LO—KRL—Y3a Y
= —~ st 5 | WHw 1:34.2 7-7-7-6 | 40.6 | — 5 43 | AEED (BER)
3 3| A RZVTLA 54.0 (/4) 3 |NsE=R
RiW—5—ywF B:IyY—=— | S5
o= R : -11-11- - BIIB—5 (REE)
47| g | IREHRILR—S i 6 wlad (12314/27) 11-11-11-11| 39.8 1 zzg;t I
R:O=IRA XA B:RAXIFF7—I2 vy RI7—L4
8 8 | RERMAER 1:34.9 9-9-9-8 (40.9| — | 10 | 448 |EHES (BEHE)
5079 | XEU—TJx—T # 54.0 a1/ 4y | @R ¥v¥vI5T
RIALINSRYIR B XEU—FvrvS pleie]
3~ N~ — v Y 5 | EREE 1:35.4  |10-10-10-10| 41.3 | — 7 | 464 |MEREIE (BEE)
6fg 7| T2 NY=/ 72 %0 172 #3) ) J7—2hEvay
RTALh—L B IAYUYYI T EScte
. _ =@ 35, —6-5- 3| - HFHE— (BEE
1 ) PIREEIPDES: # 8 | ETH Oy | |83 © S | i wem
RiAFAT=ILR B:IREN EvIUy RI7—LA
N EEES : -8-8- - SEe (BEE)
gl8gl10 A2 v—RT 4t 6 i 1(.13/52.)6 8-8-8-9 | 42.0 9 (4::71) 1;;?}%‘5
R:bh—tYS5— BRARTINRT vy RI7—L4
Y=\ 4t 6 | PEBER 1:35.9 5-4-3-3 | 43.2| - 1 450 | )IIFES (BEE)
EH 6 INZ—YwvIR 54.0 (1172 (-3 |SHLE
RiW—5—IvF B:EY/N—F FREYS
ISy oS ~ 4% 6 | ALE— 1:36.0 4-5-6-7 | 42.7| — 8 472 |HHEAF (@EE)
100101 /Ny2aryoqy 54.0 (1/2) () | A&
RiTUA—Y BHILLITLY S
~ o5 | AMHEE 1:36.8 2-2-2-5 | 44.1| — 3 511 | MEEX (2aE)
1"nlgn|Z280F7z2 b 56.0 @ @ | PEEN
RAR—RTFIAY BFe—FITAT J—=HUT7—L
@ 1—F—&RIEL
13—7+— 4,11,5,1,6,2,3,10,9,7,8
20—7F— 4,11,5,6,1,2,3,10,9,7,8
30—7— 4,11,6,5,2,1,3,10,9,7,8
40—F— 5,4,6,2,11,3,1,9,10,7,8
o ILRE
BB 5 520 | [ D4 K 4-5 510/ e B 4-5 2,740M 3EE 3-4-5 6,080M
B B 5 1409 3-5 590 5 E 4-5 2,600H 3EH 5-4-3 26,8104
4 200/ 3-4 1,580 B8 5-4 4,590
3 2604

ABIC OV TRUTEREERRODDZE. THRIIZEL.




